BRmX h0O SRAARR 05 % FEH#TT

R P kNS4t
PRBEAER EMERERETER
<afints FEF—>
< < < <
CT M1 T M2 Tcl Tc2 M3 T M4 (T2 4~5 YREE (4M6T)
A0+ ee—e6-H00 00— s8—ee-++ 0000+ 00 OO'HJWL'OO oo-H'o e +too oo™ #14~18 #wEx (B {EEE)
<
CT M1 T M2 Tcl Tc2 M3 T M1 (T2 \ 6 JREE (4M6T)
' oo—o0+ee w80 CO+ e —ee+-00To+—+oo CoH eeee oo GO+ ee ee+— G000 = #19~21 #wrk (B {EEE)
< < < <
= B O R i M1 T M2 Tl Te2 M3 T M1 (T2 \ T~10 K2 (4M6T)
—'5o—o0++ee o'H'oo 5o-Hee ee+too oo+too oottee eetoo oot++ee eet+too oo #22~33 fRAk

< > > <l 2

CT1 M1’ M2 T McT Tc T M1 M2’ CT2 \
= 2 ' : ++ o =

00 Ooo0t+t+tee ee+tt+tee® ee++to0 oOoTtee ee++t00 oOo++t0o0 Oottee eettee eet+t oo

T LJ EFRN LJ T g WJH o | | 2
= 00 oott+ee oo-H'oo e0++00 OO0++tee eet+o0 oottt (1) oo-H'oo so+too 0=

A ERERR O mEERERE B EVTIR—2 R IJU—2x—2 @:EHE O: kb

11~12REE (5M5T)
#34~39 #wmAX

13 k&8 (5M5T)
#40~43 HmAk

B <t INDF (DTN TP—L) <IN (EF)

@ #3007 [A~TRE: 1107 8~13RE : 190 7] (2023 3 A 31 EIB¥ER)
& R M| 10Tx30 M [4~TRE: 11ER 8~13RE 19 @R (2023 % 3 A 31 BEA)
ExMAWBFE  |1988F
PR IHEE : 3.3km/h/s

TP T U 3 sk/h/s (8R) 5.0m/h/s (FED)

=5 SEHRERE © 110kn/h
e | LSOA GSRE N~12KE)  LS0BA (6RE)  1,500A (T~10KE) 1,518 A (13 %E)
o iz |20, 000 (SEREESs 20, 270m) X2,850m x4,022m (/¥ SBHES : 4,080m) 13 REOTk




a B |RILVRILRAE

E O 2 |HEER AE BEEESR oM FRkAERS

=3 B | YVIWWT—LRNIITST HA~181RR : 4 B #34~30#mAK : 5 & #40~434RRK 1 3E) EBE/NVYITST (H19~331ER : 4 &)
x B M | =ML S EE

& x| VWF o o N\—5

J L F | (SATC EFESIERRBEHATL —F (E%EM)

B K T | B@BEZY (1TAFI4A4R) 28@m 1668/ RARTEIUSZTEAT 1 7RR




